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Question: 1

You need to load information about new customers from the NEW_CUST table into the tables
CUST and CUST_SPECIAL. If a new customer has a credit limit greater than 10,000, then the
details have to be inserted into CUST_SPECIAL. All new customer details have to be inserted
into the CUST table. Which technique should be used to load the data most efficiently?

A. external table

B. the MERGE command

C. the multitable INSERT command

D. INSERT using WITH CHECK OPTION

Answer: C

Question: 2

View the Exhibit and examine the description of the CUSTOMERS table. You want to add a
constraint on the CUST_FIRST_NAME column of the CUSTOMERS table so that the value
inserted in the column does not have numbers. Which SQL statement would you use to

accomplish the task?

. JPROGNE_WUNBERS

Tabie CUSTOMERS

Hama: il
[CUSTO 1]

CUST_FIRST_NAME NOT NULL

[Tipe |
[NUMBERIS) |
VARCHARZ(20)

CUST_LAST NAME
CUST_ADDRESS

NOT NULL

WARCHARZ{20)

CUST_ADDRESS TYP

PHONE_LIST TYP

NLS_LANGUAGE

VARCHARZ(3)

HLS_TERRITORY

VARCHARZ(30)

CREDIT_LIMIT

NUMBER(®,2)

CUST_EMAIL

VARCHARZ(30)

ACCOUNT _MGH_ID

NUMBERME)

CUST_GEO_LOCATION

MDSYS.500 _GEOMETRY|

DATE_OF_BIRTH

DATE

MARITAL_STATUS WARCHARZ(30)
GENDER VARCHARZ(1)
Bl LT E I I TNCOME_LEVEL VARCHARZ (2
PRODUCT_NAME VARCHAR2{S0)
PRODUCT DESCRIPTION VARCHAR2(20001
ﬁﬁT‘EOGW ] NUMBER(Z]
WEIGHT_CLASS NUMBER(1)
WARRANTY_PERIOD TNTERVALYEAR{Z) >-- _INOTHULL] NUMBER{@) |
TOMONTH NOT NULL | VARCHARZ{3)
IWER_ID NUMBER(B) TRANSLATED_NAME NOT NULL | NVARCHAR2{50)
PRODUCT_STATUS VARCHARZ{20) TRANSLATED_DESCRIPTION {NOT NULL ] NVARCHAR2{2000)
LIST_PRICE NUMBER(B.2)
MIN_PRICE NUMBERIB.2)
CATALGG_URL VARCHARZ(S0) [Table VAREHGUSES
mals WAREHOUSES
0 Name
WAREHOUSE_ID NOT NUI S = NUMBER
[UANTITY_ON_HANDINOT NULL] NUMBER{S) WAREHOUSE_SPEC SYS XMLTYPE
WAREHOUSE_NAME WARCHAR2{35)
COCATION_ID NUMBER[4}

‘WH_GEOQ_LOCATION

MDSYS.500_GEOMETRY]

A. ALTER TABLE CUSTOMERS
ADD CONSTRAINT cust_f _name

CHECK(REGEXP_LIKE(cust_first_name,””A-Z"))NOVALIDATE ;

B. ALTER TABLE CUSTOMERS
ADD CONSTRAINT cust_f _name

CHECK(REGEXP_LIKE(cust_first_name,\[0-9]))NOVALIDATE ;

C. ALTER TABLE CUSTOMERS
ADD CONSTRAINT cust_f_name

CHECK(REGEXP_LIKE(cust_first_name, [[:alpha:]]))NOVALIDATE ;

D. ALTER TABLE CUSTOMERS
ADD CONSTRAINT cust_f_name

CHECK(REGEXP_LIKE(cust_first_name,'[[:digit;]]))NOVALIDATE ;

Answer: C
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Question: 3
Which three tasks can be performed using regular expression support in Oracle Database 10g?
(Choose three.)

A. It can be used to concatenate two strings.

B. It can be used to find out the total length of the string.

C. It can be used for string manipulation and searching operations.

D. It can be used to format the output for a column or expression having string data.

E. It can be used to find and replace operations for a column or expression having string data.

Answer: C,D, E
Question: 4
View the Exhibit and examine the structure of the EMP table which is not partitioned and not an

index-organized table. Evaluate the following SQL statement:

ALTER TABLE emp
DROP COLUMN first_name;

Which two statements are true regarding the above command? (Choose two.)

ElMP

Hame Huall? Tyvpe

EMENO NOT NULL HUMEER (4)
FIEET HMNAME VARCHARZ (20)
LAST MNAME VARCHARZ (20)
SATARY HNHUMEBER (10, 2}
DEETHNC HUMEEE (2]

. The FIRST_NAME column would be dropped provided it does not contain any data.

. The FIRST_NAME column would be dropped provided at least one or more columns remain in
the table.

. The FIRST_NAME column can be rolled back provided the SET UNUSED option is added to
the above SQL statement.

. The FIRST_NAME column can be dropped even if it is part of a composite PRIMARY KEY
provided the CASCADE option is used.

W >

O O

Answer: B, D

Question: 5
Evaluate the CREATE TABLE statement:

CREATE TABLE products
(product_id NUMBER(6) CONSTRAINT prod_id_pk PRIMARY KEY,
product_name VARCHAR2(15));

Which statement is true regarding the PROD_ID_PK constraint?
A. It would be created only if a unique index is manually created first.

B. It would be created and would use an automatically created unique index.
C. It would be created and would use an automatically created nonunigue index.
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D. It would be created and remains in a disabled state because no index is specified in the
command.

Answer: B

Question: 6
Which two statements are true? (Choose two.)

. The USER_SYNONYMS view can provide information about private synonyms.

. The user SYSTEM owns all the base tables and user-accessible views of the data dictionary.

. All the dynamic performance views prefixed with V$ are accessible to all the database users.

. The USER_OBJECTS view can provide information about the tables and views created by the
user only.

. DICTIONARY is a view that contains the names of all the data dictionary views that the user
can access.

o0Ow>

m

Answer: A, E

Question: 7
View the Exhibit and examine the description of the ORDERS table. Which two WHERE clause
conditions demonstrate the correct usage of conversion functions? (Choose two.)

OE Table CUSTOMERS
latle ORDERS [Hame H Type |
= CUSTD WU MBERS)
{12} CUST_FIRST_NAME _ |NOT NULL | vARCHARZ(20)
MPiB) CUST_LAST_NAME _ NOT NULL | VARCHARZ(20)
= (WITHLOCALTIMEZONE CUST_ADDRESS CUST_ADDRESS_TYP
- B m: > » J PHONE_WUWBERS PHONE_LIST_TYP
PRODUCT_ID [NOT NULL|NUMBER ettt LEA LN L VARCHAR(S)
LR I uuuﬁ% WLE TERRITORY VARCHAR2(30)
e NABERD CREDIT_LIMIT NUMBER(Y.2)
CUST_EMAIL VARCHARZ{30)
Y ACCOUNT_MGR_ID NUMBER(S)
- CUST_GEO_LOCATION MD5YS.500_GEOMETRY|
i DATE_OF_BIRTH DATE
MARITAL_STATUS VARCHARZ(20]
pe GENDER WARCHARZ(1)
oy MUMBERIS) INCOME_LEVEL VARCHARZ( DD
a VARCHARZ{S0)
PRODUCT_DESCRIPTION WARC HARZZ000)
CATEGORY_ID NUMBER{Z)
WEIGHT_CLASS KHUMBER({1}
WARRANTY_PERIOD INTERVALYEAR{Z) ]
TOMONTH
SUPPLIER_ID NUMBER(S)
PRODUCT_ETATUS VARCHAR2(20}
[LIST_PRICE NUMBER(E.2)
MiN_PRICE NUMBER(S,2)
CATALDG_URL VARCHAR2{S0)
id
2y | OF NULL|NUMBER(3)
[euaNTITY_oN_HAND | noT NULH NUMBERE) [ WAREHOUSE_SPEC SYS XMLTYPE
WAREHOUSE_NAME VARCHARZ{35)
LOCATION ID NUMBER{&}
ViH_GEQ_LOCATION MDSYS 5D0_GEOMETRY]

A. WHERE order_date > TO_DATE('JUL 10 2006''MON DD YYYY’)

B. WHERE TO_CHAR(order_date, MON DD YYYY') = 'JAN 20 2003'

C. WHERE order_date > TO_CHAR(ADD_MONTHS(SYSDATE,6), MON DD YYYY")

D. WHERE order_date IN (TO_DATE('Oct 21 2003',Mon DD YYYY'), TO_CHAR(NOV 21
2003','Mon DD YYYY'))

Answer: A, B

Question: 8
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View the Exhibit and examine the description of the EMPLOYEES table. Your company decided
to give a monthly bonus of $50 to all the employees who have completed five years in the
company. The following statement is written to display the LAST_NAME,

DEPARTMENT _ID, and the total annual salary:

SELECT last_name, department_id, salary+50*12 "Annual Compensation"
FROM employees

WHERE MONTHS_ BETWEEN(SYSDATE, hire_date)/12 >=5;

When you execute the statement, the "Annual Compensation" is not computed correctly. What
changes would you make to the query to calculate the annual compensation correctly?

A. Change the SELECT clause to SELECT last_name, department_id, salary*12+50 "Annual
Compensation".

B. Change the SELECT clause to SELECT last_name, department_id, salary+(50*12) "Annual
Compensation".

C. Change the SELECT clause to SELECT last_name, department_id, (salary+50)*12 "Annual
Compensation".

D. Change the SELECT clause to SELECT last_name, department_id, (salary*12)+50 "Annual
Compensation".

Answer: C
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